
107/111/115 Worksheet for 11/26 GSI: Morgan Weiler

(1) Integrate

(a)
∫

1
x2 dx

(b)
∫

2x
x2 dx

(c)
∫

3x2ex
3
dx

(2) Compute by Riemann sums, with n = 1
2
, using midpoints:

(a)
∫ 2

1
4e−2x dx

(b)
∫ 1

−1

(
8

5e5x
+
√
x
)
dx

(3) Compute the definite integral:

(a)
∫ 2

1
4e−2x dx

(b)
∫ 1

−1

(
8

5e5x
+
√
x
)
dx

(4) Find
∫ 2

0
|x5 − x3| dx

(5) Find the area of the region bounded by the curves y = x2 and y = x4 by Riemann sums with

n = 1
4

with right endpoints, with left endpoints.

(6) Find the area of the region bounded by the curves y = x2 and y = x4 using definite integration.
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